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Height and charge of single clusters
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In(Mean time) vs Nal deposit energy (for nuclear recoils)
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Event selection for electron recoil events

Energy (keV)

Energy (keV)

Csl137

=
III|III|III|III|III|III|III|III|III|III|

(=]

0.05

0.1

nmt500>0.12 : signal

015 0.2

20—

e . LR o .t
PR UL AT +
+ ‘.,"“'"‘qkﬁﬁfw.. LI
.
Wl T S TR T T
wh I et R L et
o e R TR e .
hd + . + + + + +
PP RTIE: TR AR [N .
A i Y Sk T A A K
¥, AR E R A B
L L

1
0.25 0.3
nmt500

0.15 0.2

108

10°

T T
)

|

| |
2 4 6 8 10 12 14 16 1 20
Energy (keV)

Applied box cut
(asymmetry : -0.5~0.5
x1 — x2 . -04~1)



Efficiency summary
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Compare with COSINE Co60 data (Charge asymmetry)
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Compare with COSINE Co60 data (x1 — x2)
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Charge asymmstry

Charge asymmatry
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Charge asymmetry
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Nal deposit energy
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Nal deposit energy
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